POE-SPLIT-M

Mounting kit for POE-SPLIT
Mounting with top-hat rail clamp

@

¢ Break open the holes @ in the housing.

¢ Position the top-hat rail clamp @ in the desired orientation and screw it onto the housing shell from
the inside.

¢ Place the POE-SPLIT @ in the correct orientation (ensure correct mounting direction) in the housing
and screw it on.

e Optional: If the installation situation permits it, use these mounting holes @ for installation (see
below).

Mounting with double-sided adhesive tape

* Place the POE-SPLIT @ in the correct orienta-
tion (ensure correct mounting direction) in the
housing and screw it on (see above).

¢ Place the double-sided adhesive tape @ on the
bottom side of the housing shell (only for the
flush mount box of an id5, od5 or 0d10). There
must be no contact between the Intercom sta-
tion and the POE-SPLIT inside the flush mount
box.The orientation of the POE-SPLIT must be
adapted to the respective wiring.

e Optional: If the installation situation permits it,
use these mounting holes @ for installation.

Dimensions
Measuring units in mm (in), not to scale!

140 (5.51)
6.5 (0.26) 127 (5.0)
@I r i | To| _
= = 3
AD =L 25 M| =
2% 2 8.\ Ju=a] = © o] 0
018! | : i | 0 g0 &
St L i
4 N 0~
= [} #s
-
Double-sided [ — iJJ KE} ©'g
adhesive tape —|o ©lc
Top-hat rail clamp

Mounting instructions

This kit shall be installed by trained and qualified personnel only.

Only use recommended tools when installing this kit.

The double-sided tape is intended for one-time application and cannot be realigned after it has
been positioned.

Do not install this kit on unstable walls or on surfaces which cannot support the weight of the
device.

Extent of supply

Housing shell lined with insulation foil on the inside

2 pan head screw (M3x5,TX 10) for mounting the POE-SPLIT onto the housing shell
Top-hat rail clamp

2 countersunk screw (PT3x8,TX 10) for mounting the top-hat rail clamp
Double-sided adhesive tape for alternative mounting

2 wall mounting screws (4 x 456 mm, Phillips recessed head) incl. dowels (SX6)
Short reference

Manufacturer’s reference

d

For technical specifications, see the respective data sheet.
For the latest software and documentation, visit: www.commend.com
Keep this description in safe custody.

commend

Type: D-BZ-POESPLITM, Version: 1.0/0321

Commend International GmbH, SaalachstralSe 51, A-5020 Salzburg — www.commend.com



POE-SPLIT-M Abmessungen

Montage-Kit fiir POE-SPLIT MaRe in mm, kein MaRistabl
Montage mit Hutschienenhalter
140
Wﬁ 6,5 127
<
(Ton = 7 o) ) T
[i=s il lamm | HEE
= L | L
2% Af = . 3| =0|©| g
¥ : LT
i e
(0} \_ : ) I l ‘[j
£ 4 \1 0
=2}
Doppelseitiges I QJJ L ©
0 Klebeband > = = °©
Hutschienenhalter
¢ Brechen Sie die Gehdusebohrungen @ auf. Montagehinweise
¢ Positionieren Sie den Hutschienenhalter @ in der gewiinschten Ausrichtung und verschrauben Sie « Dieses Kit darf nur von ausgebildetem Fachpersonal installiert werden.
diesen von innen mit der Gehduseschale. ) L . ¢ Verwenden Sie fiir die Installation nur die dafiir vorgesehenen Werkzeuge.
* Legen Sie den POE-SPLIT in der richtigen Ausrichtung (Montagerichtung beachten) in die Gehause- ¢ Das doppelseitige Klebeband ist nur fiir ein einmaliges Aufkleben vorgesehen und kann nach dem
schale 9.und verschrauben Sie diese. . . Positionieren nicht neu ausgerichtet werden.
* Optional:Wenn es die Einbausituation zulésst, verwenden Sie zur Montage diese Bohrungen (5] ¢ Montieren Sie dieses Kit nicht auf instabilen Wanden oder auf Oberflichen, die das Gewicht des
(siehe unterhalb). Geriats nicht tragen kénnen.

Montage mit doppelseitigem Klebeband

e Legen Sie den POE-SPLIT in der richtigen
Ausrichtung (Montagerichtung beachten) in die
Gehé&useschale @ und verschrauben Sie diese
(siehe oben).
¢ Kleben Sie das doppelseitige Klebeband @ auf
der Unterseite der Gehduseschale (nur fur die
Unterputzdose eines id5, od5 oder 0d10) auf.
Innerhalb der Auf- oder Unterputzdose diirfen
sich die Sprechstelle und der POE-SPLIT nicht Lieferumfang
beriihren. Die Ausrichtung des POE-SPLIT Gehauseschale mit innen montierter Isolationsfolie
muss der jeweiligen Verkabelung angeglichen 2 Linsenkopfschraube (M3x5,TX 10) zur Montage des POE-SPLIT an der Geh&useschale
werden. Hutschienenhalter
* Optional: Wenn es die Einbausituation zulésst, 2 Senkkopfschraube (PT3x8, TX 10) zur Montage des Hutschienenhalters
verwenden Sie zur Montage diese Bohrungen Doppelseitiges Klebeband fiir alternative Montage
2 Wandmontageschrauben (4 x 45 mm, Kreuzschlitz) inkl. Dibel (SX6)
Beipackzettel

Hinweis des Herstellers
Technische Spezifikationen sind im entsprechenden Datenblatt zu finden.
Die aktuellste Software und Dokumentation finden Sie unter: www.commend.com
Bewahren Sie diese Beschreibung sorgfiltig auf.

commend

Type: D-BZ-POESPLITM, Version: 1.0/0321 Commend International GmbH, SaalachstralSe 51, A-5020 Salzburg — www.commend.com




